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Event selection

c J/¥Y > ITlIT n—ovyy c J/¥Y > 1Tl noatn
« Charged tracks: » Charged tracks:

Ryyl < 1.0cm; |Zg]| < 10.0cm, [CosB| < Rgy| < 1.0cm; [Zg| < 10.0cm, [CosB| <
0.93; nGood = 2,ncharge = 0; 0.93; nGood = 4,ncharge = 0;
e PID: * PID:

Momentum>1.0GeV; u*u~:Egmc < 0.4GeV; Momentum>1.0GeV : lepton; u*u~: Egpce < 0.4GeV;
ete™:E/p >0.8; ete :E/p >0.8;
 Neutral tracks: Momentum<0.7GeV : n¥n~;

Eparrel > 25MeV; Ecpgcap™> 50MeV; * Neutral tracks:

|CosB| < 0.8 or 0.86 < |Cosb| < 0.92; Eparrel > 25MeV; Ecpgcap™> 50MeV;

0< TDC <14; A8 > 20° N, = 2; |CosO| < 0.8 or 0.86 < |Cosf| < 0.92;
« AC Kinematic fit (yyl*17) 0< TDC <14; A6 > 20°; N, = 2;

X5. <40  4C Kinematic fit (yyl*l™)

E,low > 0.08GeV Xic < 80
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Mass and width of n
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